

**BIDDERS' LIST PAVING CONTRACTORS
RFP 15-045 Paving Projects**

	Vendor <i>(Check Addresses against new list)</i>	Bid Received	Pricing	Exceptions/ Comments
1	Titan Black Top Paving Co. 5710 Brenda Dr SW Mableton, Ga. 30126 678-516-2968	No		
2	Able Asphalt Paving Co. Inc. 1823 Poplar Springs Rd Hiram, Ga. 30141 770-943-8970	No		
3	Cross Roads Paving, Inc. 3528 Lake Drive Smyrna, Ga 30080 404-696-6116	No		
4	Blount Construction Co. 1730 Sands Place Marietta, Ga. 30067	No		
5	The Miller Group 1715 Nolan Ct. Morrow, Ga. 30260	No		
6	Baldwin Paving Company 1014 Kenmill Drive. Marietta, Ga. 30060 770-425-2839	Yes	<p><u>Estimated Annual Costs for Proposed Street/Location List:</u> \$ <u>1,366,481.42</u></p> <ol style="list-style-type: none"> 1. REC Asphalt Conc. 9.5 MM <u>5,726</u> tons @ <u>\$117.79</u> /Ton= <u>674,465.54</u> 2. REC Asphalt Conc 12.5 MM <u>2,345</u> tons @ <u>\$95.31</u> /Ton=<u>223,501.95</u> 3. REC Asphalt Conc. Patching <u>807</u> tons @ <u>\$131.63</u> /Ton=<u>106,225.41</u> 4. Rec Asphalt Conc. Leveling <u>\$120.00</u>/Ton 5. Bitum Tack Coat <u>8,071</u> gals @ <u>\$3.40</u> /Gal.=<u>27,441.40</u> 6. Mill Asphalt Conc. Pvmt. Variable Depth <u>98,956</u> 	<p>No Exceptions.</p> <p align="center">Total Estimated Price does not include pricing of Items 4 and 7.</p>

	Vendor <i>(Check Addresses against new list)</i>	Bid Received	Pricing	Exceptions/ Comments
			sy's @ <u>\$3.02/sy.= 298,847.12</u> 7. Pavement Crack Sealant <u>\$5,970.49</u> /Mile (single lane) 8. Surface Mix varies between 1.5" and 2". 9. Striping (per addendum No 1) <u>\$36,000</u> Lump Sum	
7	C. W. Mathews Contracting, Co. 1600 Kenview Drive Marietta, Ga. 30060 770-422-7520	Yes	Estimated Annual Costs for Proposed Street/Location List: <u>\$ 1,216,695.16</u> 1. REC Asphalt Conc. 9.5 MM <u>5,726</u> tons @ <u>\$89.03</u> /Ton= <u>509,785.78</u> 2. REC Asphalt Conc 12.5 MM <u>2,345</u> tons @ <u>\$93.92</u> /Ton= <u>220,242.40</u> 3. REC Asphalt Conc. Patching <u>807</u> tons @ <u>\$138.52</u> /Ton= <u>111,785.64</u> 4. Rec Asphalt Conc. Leveling <u>\$104.77</u> /Ton 5. Bitum Tack Coat <u>8,071</u> gals @ <u>\$2.06</u> /Gal.= <u>16,626.26</u> 6. Mill Asphalt Conc. Pvmt. Variable Depth <u>98,956</u> sy's @ <u>\$3.18/sy.=314,680.08</u> 7. Pavement Crack Sealant <u>\$5500.00</u> /Lane Mile 8. Surface Mix varies between 1.5" and 2". 9. Striping (per addendum No 1) <u>\$43,575.00</u> Lump Sum	No Exceptions. Total Estimated Price does not include pricing of Items 4 and 7.
8	Butch Thompson Enterprises 2131 Moon Station Drive Kennesaw, Ga. 30144 770-427-8251	Yes	Estimated Annual Costs for Proposed Street/Location List: <u>\$ 1,288,200.75</u> 1. REC Asphalt Conc. 9.5 MM <u>5,726</u> tons @ <u>\$90.15</u> /Ton= <u>516,198.90</u> 2. REC Asphalt Conc 12.5 MM <u>2,345</u> tons @ <u>\$89.60</u> /Ton= <u>210,112.00</u> 3. REC Asphalt Conc. Patching <u>807</u> tons @ <u>\$119.05</u> /Ton= <u>96,073.35</u> 4. Rec Asphalt Conc. Leveling <u>\$110.00</u> /Ton 5. Bitum Tack Coat <u>8,071</u> gals @ <u>\$4.70</u> /Gal.= <u>37,933.70</u> 6. Mill Asphalt Conc. Pvmt. Variable Depth <u>98,956</u> sy's @ <u>\$3.80/sy.=376,032.80</u> 7. Pavement Crack Sealant <u>\$6,325.00</u> /Mile (single lane) 8. Surface Mix varies between 1.5" and 2".	If awarded the project BTE will make all attempts to meet the given completion date as stated in the bid documents, however due to the amount of additional milling that will be required to install the asphalt flush with the existing curbs we are not sure that the project can be completed in the time frame given. If the project only

	Vendor <i>(Check Addresses against new list)</i>	Bid Received	Pricing	Exceptions/ Comments
			9. Striping (per addendum No 1) <u>\$51,850.00</u> Lump Sum	required mill and inlay of 1.5" to 2" the time given in the proposal would be adequate but there are locations where the existing roadway will need to be milled down 5 inches to reach a level 1.5" below the existing curb. Total Estimated Price does not include pricing of Items 4 and 7.
9	JTR Enterprises 3339 Powder Springs Rd. Powder Springs, Ga. 30127 770-439-7283	No		
10	Apac Inc. 900 Ashwood Parkway #700 Atlanta, Ga. 30338 770-392-5300 or 770-522-5600	No		
11	E R Snell Contractors 1785 Oak Road Snellville Ga. 30078	No		
12	Stewart Brothers 2480 Pleasantdale Road Doraville, Ga 30340 770-447-58110	Yes	<u>Estimated Annual Costs for Proposed Street/Location List:</u> <u>\$ 1,312,344.10</u> 1. REC Asphalt Conc. 9.5 MM <u>5,726</u> tons @ <u>\$85.40</u> /Ton= <u>489,000.40</u> 2. REC Asphalt Conc 12.5 MM <u>2,345</u> tons @ <u>\$80.60</u> /Ton= <u>189,007.00</u> 3. REC Asphalt Con Patching 4" to 6" <u>807</u> tons @ <u>\$150.25</u> /Ton= <u>121,251.75</u> 4. REC Asphalt Conc. Leveling <u>\$85.40</u> /Ton	No Exceptions. Total Estimated Price does not include pricing of Items 4 and 7.

	Vendor <i>(Check Addresses against new list)</i>	Bid Received	Pricing	Exceptions/ Comments
			5. Bitum Tack Coat <u>8,071</u> gals @ <u>\$3.25</u> /Gal.= <u>26,230.75</u> 6. Mill Asphalt Conc. Pvmt. Variable Depth <u>98,956</u> sy's <u>\$4.45</u> /Sy.= <u>440,354.20</u> 7. Pavement Crack Sealant <u>\$6,050.00</u> /Mile (per 12' lane mile) 8. Surface Mix varies between 1.5" and 2". 9. Striping. <u>\$46,500.00</u> /Lump Sum	
13	Fulton Paving 1470 Bolton Road Atlanta, Ga. 30331 404-799-9975	No		